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Proof of Cor. 5.4: see padlet exercise 2 and explanations in the video recording.
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M Some explanations on where the action in the previous proof comes from; this is an aside and the

explanations were a bit hand-waving. If you are interested, feel encouraged to look up further details.

c 2 +A

pst.7 A Cofe)

~> Hihier ot forei T
g et A fze @ | I (2)> 0]

(14) s et f et



A
o (2)==
AN
Z ¢ —
A
. L
R A © S — > Ra (25
- AN
1 A
/5=<0 ~) ot
A A = A
(d ”)‘2 =7 %(f)
AN
Z ¢ —
A&
1 1 >32¢=(2)
- N

S it o, gl ytas M

("upper halfplane model")



